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v bAa TEYRxREE] MIER

#1124 O BHEBE WK LR

BT %)

HH HH R
BwE 2.7 117.8
B - B QB A A BRL) 2.2 94.7
e 2.5 125.4
A - AR 1.6 84.5
EE BN Z Ok 5.3  248.2
FihE A (EEE 0.9 85.7
2= 5 - ft E 2.1 119.0
AL 2.2 137.8
5 5.0/ 186.4
RS 3k 2.8 110.7
HE 2.2  169.4
B ATV 4.6 126.3
Z DD O —E A 2.1 145.3
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vz bo [EYxREE] MIER

K2 T AT AVATTN/INGEE S O /NGEATRS A R

202441 A 16 H FE R 20244F11 H 13 H Rf A 20244F-12 H 18 H FF AL 202541 H 15 H BF 4 NYET | VT

i H AiA e | AiAEFE A B
~Y KRV ~Y R LA ~Y [N LR ~Y NV (o) (%)

AB = Aa—t— (1) 2,200 2.63 5,200 4.56 5,200 4.32 5,200 4.24 0.0 136.4
v N —3— (1) 4,050 4.83 7,900 6.93 8,000 6.64 8,000 6.53 0.0 97.5
v < 7tvh (1'vh) 5,850 6.98 9,605 8.43 9,280 7.70 11,600 9.47 25.0 98.3
=77 -1—7(1.50U > ML) 1,390 1.66 2,290 2.01 2,290 1.90 2,290 1.87 0.0 64.7
LX 27—V (1VwhL) 699 0.83 1,077 0.94 1,108 0.92 1,128 0.92 1.8 61.4
B (1) kL) 736 0.88 1,092 0.96 1,123 0.93 1,143 0.93 1.8 55.3
JEAE RIRAT A (m3) 230 0.27 479 0.42 479 0.40 490 0.40 2.3 113.1
ERpE L2 L [ B B (Toyota Corolla) 14,662,000 17,501.64| 28,824,000 25,284.21| 27,959,000 23,202.49| 29,657,000| 24,209.80 6.1 102.3
ESBR | 2o —E4 (D) n.a. n.a. 1,920 1.68 1,920 1.59 1,920 1.57 0.0 n.a.
TELm B s zpHe (R k) n.a. n.a. 371 0.33 371 0.31 371 0.30 0.0 n.a.
BBk (k) n.a. n.a. 280 0.25 280 0.23 280 0.23 0.0 n.a.
T Bk (R IEEE) n.a. n.a. 757 0.66 757 0.63 757 0.62 0.0 n.a.
ML AR T2 N (14647) 5,700 6.80 10,800 9.47 11,800 9.79 12,400 10.12 5.1 117.5
AR—Y LA Bt 19,200 22.92 50,000 43.86 50,000 41.49 50,000 40.82 0.0 160.4
i 900 1.07 2,500 2.19 2,500 2.07 2,600 2.12 4.0 188.9
A~ —h7 % (iPhone) 5,299,900|  6,326.35| 4,699,900 4,122.72| 4,699,900 3,900.33|  4,046,600] 3,303.35| A 13.9 A 23.6
Z~—h7 %> (Samsung Galaxy) 2,419,999| 2,888.69| 1,744,999 1,530.70| 2,589,999 2,149.38| 2,589,999 2,114.28 0.0 7.0
75 2 (1) 708 0.85 1,490 1.31 2,290 1.90 1,590 1.30] A 30.6 124.6
3L (Vv L) 962 1.15 1,345 1.18 1,365 1.13 1,365 1.11 0.0 41.9
FOER (15m) 3,499 4.18 5,999 5.26 5,499 4.56 5,999 4.90 9.1 71.4
V7 m—2Z (1% 0) 7,999 9.55 12,309 10.80 14,219 11.80 15,499 12.65 9.0 93.8
B (15 1) 1,699 2.03 2,699 2.37 2,779 2.31 2,779 2.27 0.0 63.6
FRIN (14 —R) 3,422 4.08 3,450 3.03 4,400 3.65 4,750 3.88 8.0 38.8
bt~ DU (7 X, 1.5V ML) 2,700 3.22 2,399 2.10 3,900 3.24 4,250 3.47 9.0 57.4
vkl (15012) 1,295 1.55 1,080 0.95 1,080 0.90 1,150 0.94 6.5 A 11.2
AV —7"F A1 (500ml) 9,350 11.16 15,100 13.25 14,445 11.99 14,445 11.79 0.0 54.5
o /NER (1% 7) 450 0.54 1,049 0.92 1,025 0.85 955 0.78 A 6.8 112.2
;E“:%%,ﬁ%ﬁ?ﬁﬂ [EpEK (15 7) 3 3,450 4.12 3,247 2.85 6,528 5.42 4,995 4.08] A 23.5 44.8
N i A vt CUPAD) 750 0.90 1,650 1.45 1,650 1.37 1,073 0.88] A 35.0 43.0
e —/L (473cc) P 893 1.07 1,573 1.38 1,690 1.40 1,755 1.43 3.8 96.6
e — (1U> k) 1,239 1.48 2,900 2.54 3,330 2.76 3,300 2.69 A 0.9 166.3
FRI A2 (750cc) 10,950 13.07 14,850 13.03 15,150 12.57 15,150 12.37 0.0 38.4
27— (400ml) 3,900 4.66 7,350 6.45 7,500 6.22 7,500 6.12 0.0 92.3
FLE (Smart TV 5512 F) S 929,999 1,110.12| 1,729,999 1,517.54| 2,069,999 1,717.84| 2,069,999| 1,689.80 0.0 122.6
—Rs%va (Lenovo Thinkpad) 3% | 2,265,999|  2,704.86| 3,285,732 2,882.22 4,369,499 3,626.14] 3,439,199| 2,807.51] A 21.3 51.8
sy P 669,999 799.76 729,999 640.35 753,999 625.73 753,999 615.51 0.0 12.5
Vel P 1,068,599 1,275.56 1,323,499| 1,160.96]  1,232,999| 1,023.24] 1,109,999 906.12[ A 10.0 3.9
743 Tk JeE P 1,099,994 1,313.03| 1,586,699| 1,391.84| 1,574,999| 1,307.05| 1,416,999 1,156.73] A 10.0 28.8
T =7 a— X (FER) 76,690 91.54 76,690 67.27 76,690 63.64 76,690 62.60 0.0 0.0
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